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Corporate Office : Aakash Tower, 8, Pusa Road, New Delhi-110005 Ph.: (011) 47623456







ANTHE-2021 (Foundation) (Class IX Studying Moving to Class X) - Sample Paper

Aakash National Talent Hunt Exam 2021
Sample paper
(Class IX Studying Moving to Class X)

(The questions given in sample paper are indicative of the level and
pattern of questions that will be asked in ANTHE-2021)

Time : 1 Hour MM : 90
| PHYSICS |

SECTION-I : SINGLE ANSWER TYPE

This section contains 4 multiple choice questions. Each question has 4 choices (1), (2), (3) and (4) out of which
ONLY ONE is correct.

1. The earth attracts the moon with a gravitational force of 10%°N. The moon attracts the earth with a gravitational
force of

(1) Lessthan 10*°N
(2) Greater than 10%° N
(3) Equalto10® N

(4) Equalto107°N

2. A moving car possesses average velocities of 5m/s, 10 m/s and 15 m/s in the first, second and third seconds
respectively. What is the total distance covered by the car in these 3 s?

(1) 20m
(2) 30m
(3) 12m
(4) 15m
3. Velocity versus time graph of a particle moving in a straight line is shown in figure. The corresponding
acceleration versus time graph will be
v(/r\n/s)

10wemereeeees; :

10
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() >1(s)

a (T\TI/SZ) a (m/s?)

1 >t(S) ’f(S)

4. A player catches a ball of 200 g moving with a speed of 20 m/s. If the time taken to complete the catch is 0.4 s.
The force exerted on the player's hand is

(1) 10N 2) 8N
(3) 12N (4) 20N
SECTION-II : MORE THAN ONE ANSWER TYPE

This section contains 1 multiple choice question, which has 4 choices (1), (2), (3) and (4) out of which
MORE THAN ONE answer may be correct.

5. A car covers first half part of its journey with a velocity v, and the remaining part of the distance was covered

in time . The remaining distance was covered with velocity v, for %rd of time t and with velocity v, for the
2 .
next grd of time t. Then

_ \ _2vq(vy +2v3)
(1) The average velocity of car of whole journey is ———=———=~
3vq +Vy +2v3

. . - vi(va+vs)
(2) The average velocity of car of whole journey is ——=——=~
3vq+Vy +V3
2
(3) The ratio of time taken by car in first half distance to time taken by car in next half distance is ‘/2;—\/3
V4
2
(4) The ratio of time taken by car in first half distance to time taken by car in next half distance is %
V3
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SECTION-III : ASSERTION & REASON TYPE

This section contains 1 Assertion-Reason type question, which has 4 choices (1), (2), (3) and (4) out of which
ONLY ONE is correct.

6. A : Rider on a horse falls backward when horse starts running suddenly.

R : Inertia of rest keeps the upper part of body at rest whereas lower part of the body moves forward with
the horse.

1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
3) (A)is true but (R) is false

4) (A)is false but (R) is true

SECTION-IV : MATRIX MATCH TYPE

This section contains 1 Matrix Match type question, which has 2 Columns (Column | and Column II). Column | has
four entries (A), (B), (C) and (D), Column Il has four entries (P), (Q), (R) and (S). Match the entries in Column | with
the entries in Column II. Each entry in Column | may match with one or more entries in Column 1.

For each entry in Column I, tick the boxes of all the matching entries in Column Il. For example, if entry (A) in
Column | matches with entries (P) & (S) in Column I, then tick the boxes (P) & (S). Similarly, tick the boxes for
entries (B), (C) and (D).

P QR S
Al O
B.L ] ] L]
A \ ' 4
DARYL LA

7. Match the Columns.

Column | Column i
(A) | Acceleration due to gravity is maximum (P) | At centre of earth
(B) | Acceleration due to gravity is zero (Q) | At the surface of the earth

(C) | Acceleration due to gravity is smaller than g | (R) | At some depth of earth

(D) | Weight of a body is zero (S) | At some height above earth surface
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| CHEMISTRY |

SECTION-I : SINGLE ANSWER TYPE

This section contains 4 multiple choice questions. Each question has 4 choices (1), (2), (3) and (4) out of which
ONLY ONE is correct.

8.

10.

1.

Consider the following box:

Cheese, Smoke, Milky glass, Automobile exhaust, Butter, Mud, Jelly, Rubber, Pumice

If x be the number of colloids having solid as dispersed phase and y be the number of colloids having solid

as dispersion medium, then the value of (x + y) will be

(1 7 2)
) 3 (4)
The chemical symbol for potassium is

(1 P (2)
) K (4)

Consider the following statements:
l. Ammonium ion is a polyatomic cation.
Il. Chemical formula of nitric acid is HNO,.

lll.  Formula unit mass of quicklime is 56 u.

10
4

Po
Ko

IV.  Number of atoms present in the molecule of ethyne is 6.

The correct statements are

(1) L lland 1l (2)
(3) I andIV (4)
Which of the following can be separated by distillation?

(1) Colours in a dye (2)
(3) Pigments from natural colours (4)

I, lland IV
I, Il'and IV

Drugs from blood
Water from acetone-water mixture

SECTION-II : MORE THAN ONE ANSWER TYPE

This section contains 1 multiple choice question, which has 4 choices (1), (2), (3) and (4) out of which
MORE THAN ONE answer may be correct.

12.

Which of the following is/are example(s) of homogeneous mixture?

(1) Mixture of sand and salt (2)
(3) Mixture of water in alcohol (4)

Mixture of water and oil
Mixture of sulphur in carbon disulphide
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SECTION-III : ASSERTION & REASON TYPE

This section contains 1 Assertion-Reason type question, which has 4 choices (1), (2), (3) and (4) out of which
ONLY ONE is correct.

13. A: Properties of a compound are same as its constituent elements.
R: A compound is a substance composed of two or more different types of elements.
1) Both (A) and (R) are true and (R) is the correct explanation of (A)
2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
3) (A)is true but (R) is false
4) (A)is false but (R) is true

SECTION-IV : MATRIX MATCH TYPE

This section contains 1 Matrix Match type question, which has 2 Columns (Column | and Column II). Column | has
four entries (A), (B), (C) and (D), Column Il has four entries (P), (Q), (R) and (S). Match the entries in Column | with
the entries in Column Il. Each entry in Column | may match with one or more entries in Column II.

For each entry in Column |, tick the boxes of all the matching entries in Column Il. For example, if entry (A) in
Column | matches with entries (P) & (S) in Column Il, then tick the boxes (P) & (S). Similarly, tick the boxes for
entries (B), (C) and (D).

P.Q R S
Al L U] ]
B.L 1[I

c.J ]
D.[ [ | ]

14. Column | contains some compounds and Column Il contains the ratio by mass of their constituting elements.

Column | Column i
(A) | Magnesium sulphide (P)|3:8
(B) | Calcium oxide (Q)|3:4
(C) | Carbon dioxide (R) | 14:3
(D) | Ammonia (S) |5:2
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SECTION-I : SINGLE ANSWER TYPE

This section contains 4 multiple choice questions. Each question has 4 choices (1), (2), (3) and (4) out of which
ONLY ONE is correct.

15.  Which of the following is a multicellular organism?
(1) Bacterium (2) Paramecium
(83) Chlamydomonas (4) Penicillium

16. The disease _(a) is transmitted by sexual contact whereas the disease _(b) spreads through the bite of
infected dogs. Here, (a) and (b) respectively are

(1)  Typhoid and syphilis (2) AIDS and rabies

Pneumonia and AIDS (4) Syphilis and tuberculosis
17.

Identify the above depicted tissues 'X' and "Y' and select the correct option.

X Y
(1) Vessel Xylem parenchyma
(2) Sieve tube Companion cell
(3) Tracheid Vessel
(4) Tracheid Companion cell

18. Amongst the following, who coined the term protoplasm for the fluid substance of the cell?
(1) Robert Hooke (2) Robert Brown
(3) Purkinje (4) Virchow
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SECTION-II : MORE THAN ONE ANSWER TYPE

This section contains 1 multiple choice question, which has 4 choices (1), (2), (3) and (4) out of which
MORE THAN ONE answer may be correct.

19. Sieve tubes of phloem tissue
(1) Have tubular structures with dead cells
(2) Allow transportation of food
(3) Have perforated walls with living cells

(4) Help in transportation of water

SECTION-III : ASSERTION & REASON TYPE

This section contains 1 Assertion-Reason type question, which has 4 choices (1), (2), (3) and (4) out of which
ONLY ONE is correct.

20. A: Good economic conditions and jobs are the needs for individual's health.
R : Public cleanliness is important for individual's health.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false
(4) (A)is false but (R) is true
SECTION-IV : MATRIX MATCH TYPE

This section contains 1 Matrix Match type question, which has 2 Columns (Column | and Column Il). Column | has
four entries (A), (B), (C) and (D), Column Il has four entries (P), (Q), (R) and (S). Match the entries in Column | with
the entries in Column II. Each entry in Column | may match with one or more entries in Column 1.

For each entry in Column |, tick the boxes of all the matching entries in Column Il. For example, if entry (A) in
Column | matches with entries (P) & (S) in Column I, then tick the boxes (P) & (S). Similarly, tick the boxes for
entries (B), (C) and (D).

P QR S
Alv]l L] O] V]
B.L 1[0 [

el TLTE] [
p..] ] [ [
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21.

Match the Columns.

Column | Column i
(Animal tissues) (Features of these animal tissues)
(A) | Bone (P) | It connects bones to muscles
(B) | Cartilage (Q) | ltis strong and non-flexible
(C) | Ligament (R) | It smoothens bone surfaces at joints
(D) | Tendon (S) | It connects bones to bones
| MATHEMATICS |

SECTION-I : SINGLE ANSWER TYPE

This section contains 4 multiple choice questions. Each question has 4 choices (1), (2), (3) and (4) out of which
ONLY ONE is correct.

22.

23.

24.

25.

If one of the zeroes of the polynomial p(x) = 2x> — Kx — 3 is 3, then the other zero is

(1 2 (2) -2
1 1
3) —— 4) —
3) 5 (4) 2
1
If 3x ——— =24, then the value of 8x[6x—l} + 1 5 (4 -3y + 36xy2) (where y = 0) is
4y y) 12y
(1) 382 (2) 1032
(3) 3096 (4) 746

Which of the following cannot be the solution of the equation 4x + 5y = k, where k is a whole number?
(1) (4.5) (2) (5, -4)

, then the value of y? + 15y is

4
fy=

RN PN TS Y
(1) 16-6v2 2) 8432
(3) 8-3v2 (4) 16+642
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SECTION-II : MORE THAN ONE ANSWER TYPE

This section contains 1 multiple choice question, which has 4 choices (1), (2), (3) and (4) out of which
MORE THAN ONE answer may be correct.

26. In the given figure, APQR is an isosceles triangle such that PQ = QR. If perimeter of APQR is equal to
perimeter of AXYZ and L YXZ = #XZY where X and R are two points on PZ which divides it into three equal

parts, then which of the following option(s) is/are always correct?

Q
R
E X s

%
(1) XY=QR
2) PQ| YZ
(3) XY=XZ
@) XY=YZ

SECTION-IIl : ASSERTION & REASON TYPE

This section contains 1 Assertion-Reason type question, which has 4 choices (1), (2), (3) and (4) out of which
ONLY ONE is correct.

27. A: If(a, b) are the coordinates of a point lying on y-axis, then the value of %K+1 (where K e N)is 1.

R: Every point lying on x-axis is of the form of (a, 0).

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A)is false but (R) is true
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SECTION-IV : MATRIX MATCH TYPE

This section contains 1 Matrix Match type question, which has 2 Columns (Column | and Column Il). Column | has
four entries (A), (B), (C) and (D), Column Il has four entries (P), (Q), (R) and (S). Match the entries in Column | with
the entries in Column Il. Each entry in Column | may match with one or more entries in Column 11

For each entry in Column I, tick the boxes of all the matching entries in Column Il. For example, if entry (A) in

Column | matches with entries (P) & (S) in Column Il, then tick the boxes (P) & (S). Similarly, tick the boxes for
entries (B), (C) and (D).

P QR S
Al [ O 7]
B. ][] ] [

cUUgg
p.[ 1] [][]

28. Match the Columns.

Column | Column i
(A) | In the given figure, lines p and q intersect at (P) | Complement of 28°
angle of
n
P
1156°
80°
q

(B) (Q) | Supplement of 165°

The measure of % of supplement of

complement of 65° is

(C) | In the given figure, AB || CD and ZAEF = 85°. (R) | 99°
Then, the measure of ZBAE equals

A Xt 57 é>

w
>
+

oo

[+]

N
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(D) | In the given figure AGEl is a straight line, (S) | Supplement of 118°
AB || CD and BC || EH. If EFLCD, /BAE = 48°
and ZGCD = 39°, then Z/HEF + #DEI equals

[ MENTAL ABILITY |

SECTION-I : SINGLE ANSWER TYPE
This section contains 5 multiple choice questions. Each question has 4 choices (1), (2), (3) and (4) out of which

ONLY ONE is correct.

29. The mirror image of the following figure is

(1)

3 &
@) 2‘ CRCS

30. A faulty compass shows northwest as east and east as southwest. The direction which shown by compass

as south is
(1) Northwest
(2) North
(3) Northeast

(4) Southeast
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31.

32.

33.

Complete the following figure matrix.

O O
]
[ O
IIE
A ]
?
O

(1) @ ) @

©) @ (4)

Choose the correct number in place of “?’.

59 247 | S4IBU
4138|9144
6 |5 [ERNY |112
f Y AV NI
(1) 114 (2) 35
(3) 36 (4) 100
The next term in following pattern is
521,612, 343, 215, ?
(1) 927 (2) 729
(3) 125 (4) 200

ANTHE-2021 (Foundation)
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SECTION-II : MORE THAN ONE ANSWER TYPE

This section contains 2 multiple choice questions. Each question has 4 choices (1), (2), (3) and (4) out of which
MORE THAN ONE answer may be correct.

34.

35.

Choose correct pair/s in place of “?’

TWO :33::7?

(1) ONE:5 (2) SIX:7777

(3) FOUR: 257 (4) FIVE:3126

If2% 3=24,3%4=48,7 %9 =255and 1 % 3 = 15, then which of the following is/are also correct?
(1) 4%5=82 (2) 9%2=122

(3) 3%5=63 4) 9%3=143

a d a

Space for Rough Work




®

33 Year Old Legacy of
Delivering Outstanding Results Al}ﬁ?"

84230 NEET-UG 2020 1700 eE Advanced) 2020

Pravar Kataria Anmol Arichwal
5 Year Classroom 4 Year Classroom

Aditya Goel
4 Year Classroom

Snikitha Tummala Chirag Falor

4 Year Classroom 4 Year Classroom

AIR AIR AIR

AR
Perfect Score 71 5 ) 3 haliests oy 1 ' o o , o o
720 . 352
- 2 = ~306 6 5 ﬁlt ﬁu&

Akanksha Singh
4 Year Classroom

949 sicwenn: . NTSE (Stage-1) 2019-2020

Our 1st Rankers from Classroom Programs

o 6 o € i ﬂil 2 M
i v*—l’ [ :: ﬁ
Animesh Kumar Jha Tanishka Dev Elvis Kannath Snansh Das Jiya Kejriwal Supratik Chattopadhyay Sakshi Hangargekar Ojaswi Phal Desai
[ Dl | [ Haryana | [ ferala | [P | [ Assan | [ 60|

Our performance in Olympiads & Scholarship Exams Over Past 3 Years

NTSE Stage-1_Jjil NTSE Stage-ll Ji§ __PRMO___ -.':!I_

949 435 1598 155
15
400 ' 188 | 400 800 ' | '
2017 2018 2019 2018 2019 2020 2017 2018 2019 2018 2019 2020-21(I0GM)

1556 Classroom + 151 Classroom + 533 Classroom + 435 Classroom +
42 Digital & Distance 04 Digital & Distance 87 Digital & Distance 86 Digital & Distance

AAKASHIANS OUTSHINE IN
CBSE CLASS X BOARD EXAM 2020

Glimpse of our top performers - -
PRMO 10QM KVPY Aptitude KVPY Fellowship

ﬂ m n 2019 2020-21 Test 2019 Award 2020-21
< e ¥ 771 | 1611 | 1656 | 26

705 Classroom + 1477 Classroom + 1528 Classroom + 20 Classroom +
66 Digital & Distance 134 Digital & Distance 128 Digital & Distance 06 Digital & Distance

Rishit Agarwal Sneha Barman

P Harini
NSEs IMO (Level-I) NSO (Level-I) INO
99.8% (499/500) 99.6% (498/500) 99.4% (497/500) 2019 2020-21 2020-21 2020

Corporate Office : Aakash Tower, 8, Pusa Road, New Delhi-110005 Ph.: (011) 47623456




ALL RIGHTS RESERVED

All rights including copyright and translation rights etc. reserved and vests
exclusively with AESL. No part of this publication may be reproduced, distributed,
redistributed, copied or transmitted in any form or by any means-graphical,
electronic or mechanical methods including photocopying, recording, taping or
stored on information retrieval systems of any nature or reproduced on any disc,
tape, media, information storage device, without the prior written permission of
AESL. Breach of this condition is liable for legal action (civil as well as criminal)
under the applicable Laws.

Edition: 2021-22

© Aakash Educational Services Limited [AESL]



	Copyright Page 2021-22.pdf
	Page 1

	COVER_Sample Paper_ANTHE-2021_Flattener.pdf
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

	Blank Page
	Copyright Page 2021-22.pdf
	Page 1

	COVER_Sample Paper_ANTHE-2021.pdf
	Page 1
	Page 2
	Page 3

	Final Back Page.pdf
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9

	Blank Page



